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the designated space below. ‘
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important that you follow the instructions on the bubble-sheet. .

For rough work (calculations, drawing etc.), use only the blank pages at the
end of this booklet. The rough work will not be read or checked.

When you finish, hand in this booklet and the bubble-sheet to the invigilator.
Do not disturb or talk to your neighbours at any time. Anyone engaging in
illegal examination practices will be immediately evicted and that
person’s candidature will be cancelied.

Only after the invigilator announces the start of the examination, break the
seal on this booklet and follow the instruction on Page 2.
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PART I: One-mark questions

Instructions:

First check that this booklet has pages numbered 1 through 24. Also check that the
bottom of every page is marked ASO1. Bring any missing pages to the attention of the

in -ipilator.

This part of the examination consists of 20 multiple-choice questions, Each question
is followed by four possible answers, one of which is correct. Indicate the correct
answer on the bubble-sheet, NOT on this booklet.

Fach correct choice will earn you 1 mark. However, you will lose 1/3 mark for each
incorreet choice. [f you shade none of the bubbles or more than one bubble, you will

get O for that question.

You may begin now. Good luck.

Consider a consumer having a utility function U=2x+y where x and y are two
commodities. Suppose that the price of x and y are both Rs. 5 each and the
consumer’s income is Rs. 100. In equilibrium, the consumer will consume the bundle

(2) (10,10)
(b} (0,20)
(c} (20,0
~ (d) none of the above

With quantity of x on the horizontal axis, the Engel curve for commodity x
corresponding to the utility function U= y+f{x) will be .
{(a) aray through the origin :
(b} avertical line
{c) a horizontal line
(d) acurve with an inflexion point

Suppose a producer has a fixed coefficient technology Q=Min(2K, 3L), where Q is
output and K and L are the inputs. At equilibrium

(a}) K=L

{by K=(3/2)L.

(©) K=(2/3)L

(d) K and L are indeterminate

A monopolist will never produce a quantity where the price elasticity of demand is
inelastic because:
(a) P> MC in such a case
(b) MR > MC in such a case
(¢) MR <0 in such a case
(d) P < ATC in such a case
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